Příklad výstupní tabulky z databáze ADATA:
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Height | Press | Temp | Humiaty | Warect | Wepe=d | Int termp | Inthumidity | Intwind | Tropopause | Minute | Second Calculated

1 040 |77 1350 e 0o 0 N N N N N
2 a0 960E 1Les 2 @50 3w |y Y N N N
3 763 9255 78 &7 450 3m0 |y Y N N N
4 744 omp 776 & 450 3m |y Y v N Y
s 0719 20 400 71 0 400 N N N N N
6 231 ez 400 |73 @0 B N N v N N
7 1237 mets 363 |73 750 300 v Y N N N
8 1ese (00) 22 7 750 300 v Y v N Y
9 5756 sws Lel |7 750 300 v Y N N N
0 s B2s 05 |7 250 Lo v Y N N N
1 s 7m0 2m |77 250 L0 N N v N N
12 s s ale 7 250 Lo v Y N N N
13 LS s 3% (0 00 L0 v Y N N N
14 awss w0 sa e m00 L7 N N v N N
15 G5 92 See 4l 200 200 |y Y N N N
15 6 629 689 B 200 300 v Y N N N
17 mes7 00 7m0 w2 3 N N v N N
18 4045 6134 103 (1 200 400 v Y N N N
19 emLz w01 1228 2 2600 500 v Y N N N
0 SRl sS4 300 28 200 0% N N v N N
21 S970 swp 2mes 28 200 1035 v Y v N Y
22 sl 405 2240 55 200 1300 |y Y N N N
23 sl 4,1 2463 24 200 1300 |y Y N N N
24 emss sy 2302 22 20 15,00 |y Y N N N
25 71920 4mp G 22 S0 9% v Y v N Y
26 7ise w95 GL® 22 2SO 2L00 |y Y N N N
27 rs1 W Gam 2 w50 373 N N v N N
28 7Bz %3z G829 55 2s0 (2900 |y Y N N N
20 mmes wsE GaE @ 2S00 |y Y N N N
a0 @5 @1 4L40 @ 200 w00 v Y N N N
31 s 30 44m 3 200 34 N N v N N
32 91657 W00 4665 M 200 w9l v Y v N Y
33 me 3 4z M 200w v Y N N N
34 5 27 4350 M 200 426l N N v N N
35 oSy 223 438 3 200 4500 |y Y N N N
36 S04 2541 SL91 3 200 400 v Y N N N
37 w7 00 w223 % 200 4SL v Y v N Y
|8 oz 2w Sua @ 200 7 N N v 0 N
30 e 201 Su3 @ 200 me N N v N N




Tabulku lze snadno převést do formátu Excel.
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